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PART -1/ ¥4I - |
CHILD DEVELOPMENT AND PEDAGOGY / 911 fa&r 9 Riamem=

Direction : Answer the following questions (Q. Nos 1 to 30) by selecting the correct/most appropriate options.
9T : freferfaa go4t (9. & 1 9 30) & IR a7 & 1o Ggl/aad Suga faehed g/

1.

Growth in height and weight of children is an example of :

(1) Qualitative change (2) Change in affective domain
(3) Change in cognitive domain (4) Quantitative change

el i oTE IR e | ghg fordeht IS § 2

(1) 7oA aRada (2) wETHE e

(3) HAMTHS RErd (4) HETHE GREdA

As per Jean Piaget, pre-operational stage is characterized by abilities to perform :
(1) Conservation and abstract thinking

(2) Imitation and reversibility

(3) Symbolic play and animism

(4) Classification and seriation

ST TSt o ST ER, frefafed § wH-HF emard ge-Sisharcre stewen i fagma € 2
(1) E&Tor AR o7 feaq

(2) Twa IR yderdta

(3) UdieRIcTs @A AR SaaR

(4) MR SR HHAGHT

What is the primary purpose of asking critical thinking questions ?
(1) To assess students” knowledge and understanding skills.

(2) To promote higher-level thinking and problem-solving skills.
(8) To encourage students to memorize information.

(4) To enable students to develop procedural knowledge.

SEr=ATHS H aTel T9 IS Sl M 38 1 © 7

(1) BTE % I SR FHS DA 1 STReAT B & fAT |
(2) o9 WHE G IR THE GHINE HIvE H SerE < |
(3) BEI ol THSRI A1 W@ & T diefed & |

(4) SOl YfRATHs I fashfEd o § w&m M|

Heredity totally determine an individual’s :

(i) Sex (i) Gender

(iii) Academic Success (iv) Learning Style

1) @) (2) () (i), (iv) () G, @), Gv) @) 0
TSR T T | T =Afad &/ ht w1 FrRor et 2

i H (i) et

(iii)  eFfoTR R (iv) HrEe & St

1) @) (2) (), (i), (iv) () G, @), Gv) @) @

-1 UIERTE AR 2 B



5.  Feral children, those who experienced severe (human) social deprivation since very young age
usually have delayed or hindered development and despite rehabilitation the improvement in
certain domains of development is likely to be subordinate. This period wherein development is
significantly influenced by environmental support is called
(1) intuitive period (2) native period
(3) sensitive period (4) deductive period
T == 5217 9gd ¥ 39 | R (AMa) A $19re 1 STe foRan €, STmaiR W 3 foera # 3f
1 A ST Bt & SR qHaATE o sree fohe & T2 &5l H GUR TRy B i G €1 3 ofafy

oo forerma wafeRviia gaea | Aeeyul &9 ¥ yuifad & g, FHERd |
(1) &S =it (2)  He et
(3) HagTelel safy @) frmaTers srafy
6.  Which of the following would support continuous and comprehensive evaluation ?

(1) Growth and learning progress portfolio
(2) Standardized achievement test

(3) Standardized intelligence test

(4) Best works portfolio

frafafed § & FA-91 FRE 3R A9 qeisha s aweld Ham ?
(1) g IR Aferm yofa wewmifern

(2) HMHIGd AT THE

(3) WMHIFd gfg T

(4) TEIS wE GEwIfEE

7.  According to Lev Vygotsky’s theory, which of the following is a recommended approach in order
to optimize students’ learning experience ?

(1) providing students with work that is just beyond their current level of understanding, with
appropriate support and guidance.

(2) providing no support to students and leaving them to struggle on their own.

(3) providing students with work that they can manage and complete individually.

(4) providing students with work that is completely unrelated to their current level of

understanding.

W et % fagid & SR, BTl & HEd & ST¥d &l e 9 & fae fr=fafed § § eF-1
Tifaa g €2

(1) BE % IdaH TR W R 376! e gueq 3iR AniesE & WY wM Y& & |

(2) B 1 HIs FEHA T8l ol SR I 7T TH T HoY A & ¢ B 1|

(3) BTHI I THI M UM HE 58 o Al €9 F Fafa TR T L T |

(4) STE HI TH HM YSE HEAT S STR! G & TaHH TR H T /e 9 STGad 2 |

8.  Learners feel engaged and actively involved in process of learning when :
(1) focus of learning is repetition and memorization.
(2) socio-emotional needs of learners are ignored.
(3)  their prior knowledge is discarded and negated.
(4) activities are related to their context.

foremeft stferm wfshen # =rea o) Witk €9 @ wfHe weg@ & € 9 ¢
(1) e o1 9 Sevd i T WA

(2) Torenferdi st AmfSe- TEATE STavEwdesl i U it S €
(3) % Y T I gk feRam ST § SR THRT ST ¥ |

(4) Tifafafeal ST Hey & Hefua B €1
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10.

11.

12.

P-I

According to Lev Vygotsky, children regulate their own behaviour through the :

(1) Use of inner speech (2)  Process of equilibration

(3) Use of self-reinforcement (4) Processes of adaptation

S TR & ATAR, T=d 70 T o FIeR ! fohd YR Frafid w €2
(1) 37cH 91 < 94N g (2) el i fshar g

(3) g =l e % ST g (4) STIHEE &I FfHAT GRI

Jagriti has learned that her dog, Rusty, is a Golden Retriever. When she sees another dog that
looks similar to Rusty but is a different breed, she calls it a dog too. According to Jean Piaget’s
theory of cognitive development, which concept does this demonstrate ?

(1) Object permanence (2) Conservation

(3) Assimilation (4) Egocentrism

S SRt el =t T § o SRt et TR U Tieed IR §1 56l 98 Wk 3R F ol St § S W S
e € Afhe U ST 5 1 ¥, o 98 3§ off a1 & wHerdt 1 S st & garenes faem & fagia
¥ AR 78 forg STTIRON 1 YfRid e © 2

(1) & e (2) wREm

(3) HHESH (4)  STEehfa

Which of the following is correct in context of gifted children ?

(1) Gifted children certainly excel in all areas academic, social and emotional.

(2) Gifted students are always happy, popular and well adjusted.

(3) Gifted students learn at comparatively advanced pace than other students.

(4) Gifted children are free from risk of learning disability.

iR = o Hed #§ fefated § § s w6 § 2

(1) gfqureeht s fAftaa &9 & Jeiforen, A R AEAEs T4 &5 § Sapted I A © |
(2) TfquTeITeR BT THIM G, ARG TR TS e H FHMISA 2d € |

(3) HIIHTTC B 3T BT i ol | TU&THd 314 T1d o Ed 2 |

(4) ARG =2 TREE ot STeTd % SITEH 9 g e ¢ |

Assertion (A) : Teachers should constantly examine their own attitudes and biases while working
with children.

Reason (R) : The process of problem-solving is hindered by functional fixedness.

Choose the correct option.

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2) (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

AR (A) : el I I=ai & WY HH FA THI TR 3T W & gieahion SR qai@l ot i

T =AM
T (R) : UG St Ufshan st feorar & anfea 7|
et fasked I |
(1) (A) 3R (R) S =& T AT (A) T (R) T =& Tl B

(2) (A) W& & AR (R) Terd B |
()  (A) 3R (R) S Terd |
4) (A) 3R (R) I T T IR (A) = (R) T =A@ HIAl |

IR AR 4 B



13.

14.

15.

16.

P-I

While talking about her poor marks in mathematics Avi says “Ijust don’t have the sense for numbers”
Avi is attributing his performance to :

(1) Task difficulty (2) Lack of effort (3) Lack of ability (4) Luck

oy ST T SR 3 SR H o g A 1 B, g i e A 87| S yee
FHRO fhHeh! 38T @l ?

(1) E wfcTE (2) HIRW A HHA  (3) FIA H A (4) fREIa

Assertion (A) : Teachers should provide emotional support to children in the classrooms to ensure
effective learning.

Reason (R) : Emotions and cognition are related to each other in complex ways.
Choose the correct option.

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2) (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

AR (A) :  Torerrl sl he § gt HaH GHREA w3 & faw a=i bl HelTensh FN <A1 =T |
HIT (R) : o G T O H Sifeel 9 9 Faifd €1

e fased I |

(1) (A) 3R (R) S Tt € Afeh (A) T (R) Tl ==& =& el

2) (A) T T AfHA (R) TTerd 71

(3)  (A) 3R (R) I T ¥ |

4) (A) 3R (R) I T T 2T (A) T (R) T AT HIl T

Which of the following sequence of representation of concept is in accordance with children’s
gradual development of cognitive abilities ?

(1) image-based, symbol-based, action-based
(2) symbol-based, action-based, image-based

(3) symbol-based, image-based, action-based

(4) action-based, image-based, symbol-based

frafafed § @ STauRen & fE90 &1 SFE-H1 hH g0l 6! GAHHS A o ST fTHh™ & TR
g2

(1) Bfa-sreia, Hha-enenia, fhar-seafia

(2) Heha-smHTRd, forar-snuTia, sfa-sterfa

(3) Heha-smenid, Bfa-smenfia, foran-smenfa

(4) foran-smenfid, sfa-smenfid, deha-smumia

Preconceived generalizations about behaviour of various gender are called :

(1) Gender discriminations (2) Gender identity

(3) Gender typing (4) Gender stereotypes
faf= St & =aeR & IR § Yehicud M= 31 Head ¢ 7
(1) et deHE (2) St wEEH

(3) st uEy (4) et wfeafed

LRI 3 B
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18.

19.

P-I

Assertion (A) : Classroom pedagogy should be culturally responsive to meet the needs of students
from diverse cultural backgrounds.

Reason (R) : Equity in classroom can be ensured only through standardized curriculum and
assessment.

Choose the correct option.

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(2)  (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

AR (A) :  Tafay wiwpfaw TEYH | S 1 STEW@I 0l T HH o fow Her o 1 Giemids 9
Y ITEET BT =feu |

T (R) : FeT H U1 Hhael W Ihd WSl 9 3Tehel o gRI Y= i S Gehell |

e fashed I |

(1) (A) 3R (R) SF1 Tt € Afer (A) T (R) Tl ==& =& et

2) (A) 5 T dfehd (R) TTerd T |

(3) (A) 3R (R) S TTera ¥ |

(4) (A) 3R (R) I &I € 31X (A) T (R) HeEl AR T € |

Howard Gardner’s concept of Intelligence implicates that :

(1) human beings differ in their abilities in different domains.

(2) intelligence has only one dimension.

(3) intelligence is only about “practical” learning.

(4) everyone processes and understands the world in the same way.

TS MER &t & TE dfg i Ta&mon =1 ffgared § f

(1)  TeT-3TenT A | Sl ol STeNT-3eRT Fvadrd el € |
(2) 9fs 1 FHecl Th Bl A BT B |

()  dfg Faa wEmETE Afr | Hafyd T

(4) Tl T i B TEE ® 9 e i gEifid e €

Repetitive and ritualistic behaviour is an identifying characteristic of :
(1) Learning Disabilities

(2) Attention Deficit Hyperactivity Disorder

(3) Cerebral palsy

(4)  Autism Spectrum Disorder

SeUd 9 SR fhT S a1el H9eR fhden! fafire qg=m & ?

(1) Al fashatiTar i

(2) & A Sfdafsrameiterdr foehr =t
(3) Wf&Ts GeTEd hi

(4) T hH Tk

IR AR 6 B



20.

21.

22.

23.

Which of the following is correct about the process of learning, according to socio-constructivist
theories ?

(1) Learning occurs only in a classroom or formal educational setting.

(2) Learning is a passive process that occurs solely through observation.

(3) Learning is a social process of meaning making.

4) Learnmg is an individualistic process that occurs in isolation.

wﬁ&ﬁ%wﬁwaﬁm%aﬁﬁﬁwﬁﬁwﬁ@ﬁ? T e TR § ?
(1)  SIferT Shaa e a1 sito=niies feen fomama # 2 g1
(2) siferm TSk ufshen ® S haat staciie & A 9 Bl €
(3) i evef fmior st U Grifee wishen ¥
(4) STfFTH T AR Ufsha © S TR § B §
Which of the following statement best describes the role of the teacher in progressive education ?
(1) The teacher serves as a facilitator.
(2) The teacher implements the prescribed curriculum “as it is’.
(3)  The teacher leaves the children on their own to work independently.
(4) The teacher is the primary source of knowledge.

Frefafed # 9 HA-91 wum wfaeia fen § fiees w1 yfte 1 9o =1 9 X 72

(1) Torersh T glaemyemr % €9 H S wd T |

(2) Torerer frerifed areeRm o0t 'S 61 @ @] A €

3) ot adi &1 T 9 Y HE A F A AF T R BlS W S

(4) et 9 1 Tefies i B T

Which of the following is not a characteristic of a well-formulated critical thinking question ?

(1) Itis based primarily on factual information.

(2) It requires analysis and evaluation of information.

3) It promotes higher-level thinking and problem-solving skills.

(4) Itis open-ended and allows for multiple answers.

Frfafad § | SH-91 TF T8 TE ¥ TR fhT T A= |re oel 9 i forrar 78 @ ?

(1) 9% Y& ®Y ¥ e ISR T A 2|

2) TEH Ga % fawervor SR Yol S STevshdl et § |

(3) UE I=9 WRIF Wi 3R THE THIM hIvret i ogel <l |

(4) I8 T T § 31T HE ST Sl T L 1 SFTTAM a1 T

Assertion (A) : Teachers should focus on asking questions in classroom and encouraging children
also to ask questions rather than giving instructions.

Reason (R) : Child-centred pedagogy means giving opportunities to children’s voices and
ensuring their participation.

Choose the correct option.

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2) (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

STTURAT (A) : F%TWE%E&]T‘EIWWW S <1 AT 3R 39 <7 & 99T 3= 9% I8 & falg
HI(‘HII'éd cnHl ‘C{Il‘é'\l

HIT (R) : STeT-higd TYIeTemTest <1 37ef © hell H sredl ot TS bl Heed <1 IR ST Ffaumiiaar
%l A= |
el fased I |

(1) (A) 3R (R) S Tt € Afeh (A) T (R) T A8 =& et
2) (A) §& T &fhd (R) Ted T

(3)  (A) 3R (R) ST Tora ¥ |

4) (A) 3R (R) I T T IR (A) T (R) T AR HIl |

LRI 7 B




24.

25.

26.

P-I

In an inclusive classroom :

(1)  All children have access to and are included in classroom activities.

(2) ‘Special’ children are looked upon as needy and dependent.

(3)  All children follow same curriculum and uniform pedagogy is adopted for all learners.
(4) ‘Special children” always work on their own curriculum.

Teh HHENT He | ¢

(1) @t Sl s e i IfafafiE 9 ug § SR o e it fran ® wnfee §)

(2) ‘o’ s=al HI SEAHR SR ST % ®9 § <@ S Bl

(3) W T= AN WST=A! I UIe A § IR Weft franfed % fore wme fameres et S g
(4) ‘fos s=a T ST9R WSt W T A € |

Children with ‘learning difficulties” typically :

(1) Have problems in regulating their emotions.

(2) Have confusion with letter and alphabets that look alike.

(3) Have very low IQ as diagnosed through standard intelligence tests.
(4) Have difficulties in reading due to their poor sight.

SR TR HGA i AT/ e’ arel seai | :

(1) 319 sraedt =i feifsa s # g St 7

) TE S foEd At &R SR F0f il TR 9 B ©

(3) TS dfg e & Arem I freifa 9gd w9 s afsy adt T
(4) TSR HHSIR B % HROT g H WM Bt T

Assertion (A) : While some children start babbling and uttering two word sentences at 12 months,
others don’t do this till they are 20 months old.

Reason (R) : Development milestones are only suggestive and development of individual
children can be quite varied.

Choose the correct option.

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2)  (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

AURT (A) : STk FS Todl 12 HEH i 30 H ISaSHI 3R T V] ol A el & L od &, 374
20 A T 39 qeh TE TR FW ¥ |

HIUT (R) : foreTaTcTe: i Shael Hichfask § IR sAfamra sl o1 fashrd st f=1 21 Tehan €1

et fashed I |

(1) (A) 3R (R) S =& T AT (A) T (R) T =1 Tl B

2) (A) T2 § AfA (R) Tod B
()  (A) 3R (R) ST Terd |
(4) (A) 3R (R) I &I € 31X (A) = (R) HeEl AT T ¢ |

IR AR 8 B



27.

28.

29.

30.

P-I

Which pedagogical approach would be adopted by teachers who firmly believe in constructivism
to teach concepts of floating and sinking to class V children ?

(1) Showing videos (2) Showing power point presentation

(38) Guided discovery (4) Lecture method

T Uieell o sredl ol kA 3R go i TR I TgM & fore TrermEme § ge fovara W et foerei
BRI -1 Reforeh gitaehior STa=m e 2

(1) e feam (2) R EEE Y& fo@m

@) Féfm aE (4) =reH fafy

When presented with Heinz’s dilemma, Arunima reasons : “The law wasn’t set up for these
circumstances. Taking the drug in this situation isn’t really right, but it’s justified.”

Which stage of moral development is Arunima according to the theory of Lawrence Kohlberg ?
(1) Morality of contrast, of individual rights and of democratically

(2)  Orientation towards punishment and obedience accepted law

(38) Instrumental purpose and exchange

(4) Social concern and conscience

BT I A ol U9 fohT ST T, STEMOTHT Toh <l © ¢ i o1 URiefaail o fore Tenfya et fomam e o)
74 fearfa # g o1 areqel # wel 7 €, fer 78 sfea g1

AN Hiecrert & fagid & TTER srefomn Sfaew fohma &t dm-dt eTewen €2

(1) ferar o1 faienmE, SAfamTa SR o arehdifTehd]

2) TT HI AR IEH 3R ARG Thehd HA

(3) ifye e 9 fafm=

(4) GRS TR IR oo

Which of the following statement about development is correct ?

(1) Development occurs in a spiral manner, not linear.

(2) Development proceeds from specific to general.

(3) Different aspects of development are independent to each other.

(4) Development is a discontinuous process.

foema & Tl # frfafead § & -9 For w2t § 72

(1) fowm afwa T8 3 2 g, as 728

) fom fafere & @ #t 2IR sgd 2

(3) o & fafy= vee] THh-gH § W 8 § |

(4) TomE T 1Ead i €1

Which of the following is not an effective memory technique for meaningful learning ?

(I) Mnemonics (2) Concept Mapping

(3) Elaborative Rehearsal (4) Rote Rehearsal

frafafaa § @ oF 9 e dien & fw & gumet Wi aeres @ © 2

(1) i geras fafat (2) e famo

() fawa srE (4) YA 9 <ENd

LA TR 9 B



PART - Il / 9T - I
MATHEMATICS / 1ford

Direction : Answer the following questions by selecting the correct/most appropriate options.

9T : frefeTfaa go1 & ST 37 & [l Wgh/aad 3ugard [aeeq g/
31. Saumya joined her job on 13-01-1992 and she took retirement on 31-03-2023. Duration of her

service was :

(1) 30 years 9 months and 18 days
(2) 31 years 2 months and 19 days
(3) 31 years 2 months and 18 days
(4) 30 years 10 months and 19 days

e 3 13-01-1992 1 ARt a1 3R foham 3IR 31-03-2023 1 39 Fanfigha & &t | Faht ARt i

ety of

(1) 307399 A AR 18 T
(2) 319%2 A9 AR 19 T
(3) 319¥2 A AR 18 T

(4) 309910 ¥ 3R 19 fea

SPACE FOR ROUGH WORK / 7% & @ fag wig
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32. In a certain week, the number of patients in a dental clinic was as follows :

Day Number of patients
Monday 25
Tuesday 38
Wednesday 45
Thursday 18
Friday 36
Saturday 39

Based on above table, choose the wrong statement :

(I) On most of the days, number of patients was more than 30

(2) Difference between the number of patients on Monday and Wednesday is 20
(3) Total number of patients was 200

(4) Range of the data is 27

fordt TR ¥ T <9 fafecarea ¥ 7S &) 9& 39 TR off ¢

fea TSt &) awAT
GIaR 25
TR 38
ECEI 45
gg;qﬁan 18
RIEEIN 36
IIER 39

Y dIfciehl o STTUR T, Terd T &l g

(1) At fodi § w{lisi 1 Hem 30 | stferen off |
(2) HHAR IR FEER I TSI I H&AT T 3R 20 T
(3) TSI Wl A G&AT 200 o |

(4) siiepel o1 afEr 27 ¥

SPACE FOR ROUGH WORK / 7% &Td & e swg
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33.

34.

35.

36.

37.

The main approach suggested by National Curriculum Framework (NCF) 2005 in teaching learning
of mathematics is :

(1) Pragmatism (2) Behaviourism (3) Constructivism (4) Instructivism

T U et gele T rga=ai S 2005 § ford o freror 1fmm wl s l TR I T -
(1) SYARTAER (2) ITRRAR (3) TAHEAER  (4) foeErg

One crore is :

(1) one million (2) one billion (3) hundred million (4) ten million

(1) U Tafea 2) T fafem (3) 9t fafeem (4) <u fafeam

Two angles of a triangle are 50° and 30°. Then, the third angle of the triangle is :

1) 40° 2) 60° (3) 80° (4)  100°
Teh 1Y o < 107 50° AR 30° €| d9 TS &l AT IR
(1)  40° 2) 60° (3) 80° (4) 100°

Which of the following Indian mathematicians are known as founders of ‘numerical
analysis’ ?

(i) Ramanujan (i) Bhaskaracharya

(iii) Varahmihir (iv) Aryabhatta

Choose the correct option.

(1) (i) and (iv) (2) (i) and (iii) (3) (i) and (iv) (4) (i) and (iii)
frafafea # & for R o 1 ‘ST fagero’ & Heere & &9 H S S 8 2
(i)  HESH (i) VTR

(iti) eRTEHER (iv) STEwg

e fased T4 |

(1) (i) ¥R (iv) (2) (i) 3R (i) (3) (i) 3R (iv) (4) (i) 3 (i)

While teaching equations a teacher explains the concept of a linear equation having unique solution.
She further asks, “If a solution is given then how many equations you can create” ?

Choose the correct option :

(1) No equation (2) Many equations (3) Two equations (4) One equation

THRT T TEa fafaren ifgd ga orel Yad it it STEaHRT Sl GUS §1 9% SN IS €,

" TR & feom T B 1 3Ty fohan HHiehYOr S Wehdl § 1 2
F@'ﬁw?\ﬁ
(1) RIS GHIROT &I (2) s HHIHL (3) < FHH (4) TH gHR

SPACE FOR ROUGH WORK / 7% & & fau wig
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38.

39.

40.

41.

Which of the following resources is best suited to explain the concept of decimals ?

(a) Number Chart (b) Dienes Blocks

(c) Taylor’s Abacus (d) Graph Paper

Choose the correct option :

(1) (b)and (d) (2)  (a) and () (3) (a) and (b) (4)  Only (b)
Frafafad 3 | SF-9 HEEA SIHE H AU H FHAN 6 I waw Sfed 2 2

(a) Tem=r (b) <ERE s

(c) <R & fmam (d) UH TR

w@ faeshea ?\ﬁ :

(1)  (b) ¥R (d) 2 (@) 3R (0) (3) (a) 3R (b) (4) ke (b)

22 hm 8 dam is equal to :

(1) 2208 m (2) 2280 m (3) 22080 m (4) 22800 m
22 hm 8 dam ®{&X % :
(1) 2208 m (2) 2280 m (3) 22080 m (4) 22800 m

Which among the following is/are true about the computation in basic operations for Grade-II
learners ?

(a) Itinvolves child’s ability to develop informal strategies.

(b) Itinvolves child’s ability to estimate.

(c) Itinvolves child’s ability to do calculations with large numbers.

Choose the correct option :

(1) (b) and (c) (2) (a) and (c) (3) (a) and (b) (4) Only (c)
FeI-11 % AeRTIRdisti & forg sneRed wiswansti § sifiswem % fau frefafed § @ F-9/3 & /&2
(a) THH T=d I S AT H1 fahfad T Hi & gHehfad |

(b) THH = HY STIHM T hi &Il FHRIAT T |

(c) U oS GEmel % A1 Yoo i i sed i §THAT GHR{Cd ¢ |

'{Té\' Ty ?\ﬁ :

1) OFWEQ @ @FEQ @) @IME @) FA()

Which of the following letters has no line of symmetry ?

1) A 2 M (3) X 4) L
frfafea & 9 fog 21er =1 =g gafad @ 7= € ?
1 A 2) M 3 X 4 L

SPACE FOR ROUGH WORK / 7% &Td & e swg
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42,

43.

44.

45.

Which of the following represents the features of a mathematics laboratory ?

(a) Itis a place to enjoy mathematics through informal exploration.

(b) It provides opportunities to prove mathematical theorems through experiments.

(c) It provides opportunity to make conjectures, test them and to generalise observed patterns.

(d) Itis used to assess students” knowledge of mathematics and grade them accordingly.

Choose the correct option.

(1) (a) and () (2) (b)and (d) (3) (b)and (c) (4)  (a) and (d)

frefafad o @ o 7ford &1 T e w1 ferars i fefia e € 2

(a) I SHEIRE ST o N 0 H TG < 1 €I B |

(b) T8 WA % gRI T THE 1 fag FH F STTH Y HAT ¥

() IE FIoFR M, Ih! Sird HE SR W T Yo T FHRAFH T F TR YSH B T

(d) =HH WM fonfefE & o % FH A SR X o fAT IR dEER 3 I < & faw e
ST |

el fashed 94 ¢

(1) (a) ¥ (o) (2) (b) 3 (d) (3) (b) 3R (o) 4) (a) ¥R (d)

12 thousand + 13 hundred +2 tens is equal to :

(1) 130132 (2) 13320 (3) 121320 4) 12132
12 TR +13 91 +2 9 s’ § :
(1) 130132 (2) 13320 (3) 121320 (4) 12132

If x : y=p : q, then which of the following is true ?

(@ x+y:y=pt+q:q (b) x-y:y=p—-q:q

() x:p=y:q (d) x+y:x—y=p-—q:p+q

(1) only () (2) (a) and (d) () (a) (b)and (c) (4) (a)and (b)
ARG x:y=p:q @ ARG § § FH-T1 97 72

(@ x+y:y=pt+q:q (b) x-y:y=p-q:q

(© x:p=y:q (d) x+y:x-y=p-q:p+q

(1) o (o) 2 (a) ¥R (@) B) (@) B)FR() @) (a) W (b)

One egg has a mass of about 65 g, what is the mass of 2 dozen eggs ?

(1) 1kg56g 2) 1304 kg () 1kgb544g (4) 156 kg
T 31 1 THHM TN 65 g 1 2 ToM 3iei 1 FoamM fohan 82
(1) 1kg56g 2) 1304 kg (3) 1kgb54dg (4) 156 kg

SPACE FOR ROUGH WORK / 7% & & fau wig
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46.

47.

48.

49.

National Curriculum Framework For Foundational Stage (NCFFS), 2022 highlighted the importance
of the following components while teaching an abstract mathematical concept :

(a) Written Symbols (b) Experience

(c) Spoken Language (d) Picture

Which of the following is the appropriate sequence of these components while teaching an abstract
mathematical concept ?

1) (B =) —(@)—(d) 2 ©—=>@—@—>b

B )=~ @4 © = (@)= (d—(b)

R W o T T qrea=a SO (T T TF TH), 2022 7 3T TR SATLR0n o f1a701 &
e FEAfafed sl o Hew W TRl STl

(a) ToifEd fa= (b) 3TV

(c) ScA-Tet et | (d) fem

3T T TR & 38707 & |HA 37 9eehl b1 hH-|1 FAfafEd Suged d 2
1) ()= () = (@ —(d) (2) (9 —(d)—(a — (b)

@) ()= ()~ (d)—(a (4) (9 —(a—(d)— (b

If (7 * 2) X (123) =92496, then value of * is :

1 1 2) 4 G 5 4 2
A (7 * 2) x (123) =92496 &, T * HT A T :
1 1 (2) 4 G 5 4 2

The missing number (?) in the following :
43,47,53,59, ? ,67,71,73is:

1) 60 2) 63 3) 65 4) 61
43,47,53,59, 2 ,67,71,73 ¥ qw €& (?) § :
1) 60 2) 63 3) 65 4) 61

Raju has turpentine oil in 5 containers each of 20 L size. He fills them in 10 cans of 5 L, 10 cans of
2 L and rest in 1 L cans. Number of 1 L cans filled is :

1) 30 2 22 3) 28 @) 25

TS &% UG TS 20 L a6l Y&® 5 dadl B aRaH 1 ddl €1 S8 T8 5 L 9Tl 10 S, 2 LA
10 ST 3T SRt I 1 L Tt SIdH1 | S| 1 L 9Te) sidei ot S © ¢

1) 30 2 22 3) 28 @) 25

SPACE FOR ROUGH WORK / 7% &Td & e swg
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50.

51.

52.

53.

A mathematics teacher discusses the concept of open and closed curve in class. For better
understanding of students she gave an example with four points. If the curve is open then nature
of four points is :

(1) Two of them must be collinear (2) Three of them must be collinear

(3) Three of them must be non-collinear  (4) All are collinear

TIford st Wek forferent hen ® foga wd Gga ok Tt STAURUT W ==l w3t 7 | fanfiE ot sed g & fo
a8 9R foigell & 91 T I <At T TR ok foga € a9 9r foigedi i feafa € -

(1) 399 9 I §iE 31 =@y (2) T ¥ I EE g =i

(3) T & 9 s 2 e (4) Tl T E

In order to identify individual differences of students in the mathematics class, which of the following
assessment technique will not be appropriate ?

(1) Formative assessment (2) Diagnostic assessment

(3) Peer assessment (4) Summative assessment

oI skt hen | foenfiei § Sifadew fatar &) teem & fau f=fafed § 9 &9 9@ oo dais S
T T 2

(1) TEAHS STHTH (2) I eTRed

(3) EHERE AR (4) ANTCHSR SAThel

Which of the following statement(s) is/are true about numbers ?

(a) All positive integers are whole numbers.

(b) All whole numbers are integers.

(c)  All rational numbers are real numbers.

(d) All irrational numbers are real numbers.

Choose the correct option :

(1) Ony@© (@ () @andd () @and(d (4 Only(b)

st & ar # frefafead § @ i 91/9 weF 99 §/8?

(a) | T qUiish, qUi el €|

(b) =it goi Head quiisk Bt ¥ |

(c) @t uftl G arfass e g ¥ |

(d) Gt el ded ardfaes Semd et ¥ |

Tl foehed I

(1) FH (o) @) 0@ @) @I @ F()

The difference between the greatest and smallest 6-digit numbers formed by using the digits 5, 1, 0,

3,9and 6 is :

(1) 862731 (2) 951741 (3) 851731 (4) 861741
3iHi 5,1,0,3,9 3R 6 A o TG ISt 2R GIY DI 6-31hi I T& I 3R ¥
(1) 862731 (2) 951741 (3) 851731 (4) 861741

SPACE FOR ROUGH WORK / 7% & & fau wig
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54.

55.

56.

Arrangement of fractions 1, i, E, 12 in decreasing order is :
9" 21" 77 63

y 311 12311 11231 31121
(1) 7" 63" 9" 21 (2) 63" 7" 21" 9 (3) 9" 63" 7" 9 (4) 79" 63" 21
10103 12 3 srorivdt oom 3 foret wobm & forn o 3
9" 21" 77 63

31211 12311 11231 3112 1

7" 63" 9" 21 (2) 63" 7" 21" 9 (3) 9" 63" 7" 9 (4) 7" 9" 63" 21

In a mathematics class a teacher explains the concept of different angles. He/she realizes that
scissors is a best example to explain

(a) Vertically opposite angles (b) Linear pair of angles

(c) Corresponding angles (d) Alternate angles

Choose the correct option :

(1) (a) and (c) (2)  (c) and (d) (3) (b) and (c) (4) (a) and (b)

T han H forereh - ol it STareRon il FHed/ @ € 3 I8 STfd Bl © foh e
T I % fore ween SRR

(a) SiwifagE Ho (b) =IO 1 e P
(c) ET T (d) T HO
'{Té\' IEETS ?\ﬁ :

1) (a) 3 (c) 2 (o) &R (d) (3)  (b) () 4) (a) 3R (b)

Which of the following learning experiences for children does not reflect the contribution of

mathematics to everyday life and society ?

(I) Meeting people from different areas of employment and exploring how they use mathematics
in their work.

(2) Collecting, organising, representing and interpreting data in day-to-day life.

(3) Play small group games that draw on mathematical skills and concepts.

(4) Communication of mathematical ideas in writing using both formal and informal languages.

frafafed # @ sl & faq &9 @1 Aferm syE ae adn Sfe Sie | 1o & Frres 1 gfafafted

AT & ?

(1) TSR & Ta=-T= &= o @l 9 foerT qen STawor T fof o 379 M § 710 1 9= fohd TR
F R

(2) < Se | 3= ST I Uahdl AT, GeAareed &, fefad s aen ufanfed we |

(3) DI IR I TH B Wl i1 T hivel Td STaeRonsti w e & |

(4) SI=IRe TE SHURE 9o QM1 1 ITART R o foar o1 fafea & e

SPACE FOR ROUGH WORK / 7% &Td & e swg
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57.

58.

Which of the following are correct examples of the statement “mathematics is hierarchical in levels
that are logically structured”.

(a) Theconcept of integers needs to be developed before the concept of multiplication and division
of numbers.

(b) Multiplication follows and builds on the concept of addition.

(c) Number sense needs to be developed before the concepts of addition and subtraction.
Choose the correct option :

(1) ()and(© () @and(©  (3) only () (4) (@) and (b)

Fee o 3 Wl H Tershiaa § S o aifeher w0 @ syaftea €' % fau frafafed § @ o-9 @
I § ?

(a) UIeRI ST STAYREN I HEA3T o UM TR 9T T STaERON § Jd foerfad s whi strereehdl g ¢ |
(b) UM, TN Y TSRO HT STTUTC HIT § IR 39 R Fhiad Fem 7

(c) Hea Y &l AN iR aehe &1 ATIRON | 4 foaenfad & i STawashal gl € |

e fashed 94 ¢

M) OFWE Q) @FE @) F() (4) @R

Students in a class are solving questions based on percentage discounts. One question requires the
students to calculate the cost of two bikes, with a 8% discount on each bike. One of the groups
calculates the total cost of the bikes and then deducts 16% from the total cost. The method used by
this group is :

(1) An alternate strategy to solve the question.

(2) False, since they have deducted 16% discount from the total instead of 8%.

(3) False, since they have deducted 16% from the total instead of 16% from the average of the
total.

(4) Correct and is the only way to calculate the discount and cost.

T hen H foreneft wierad B W SHRd T 1 B R § | Tk U | et o T etk
W 8% B % WY A HRIHE hall o Yed I URHT HT i STATIhRA & | Th TG SHI HRITE el &
Fel T T TR il § 3R R Fal o § ¥ 16% #1e ol €1 39 99 5’ 74 i 18 fafy

(1) 99 1 TA HTA h! SR HRIG B |

(2) eI ® Hifeh 3R Fo oI 8% ht SR 16% B HIE |

(3) T § ik I Fel o W 16% e TS 91 16% Fel 7o o Sid 9 |
(4) W& T TA IT Y TE oI I IRbE I H1 THA TUH B |

SPACE FOR ROUGH WORK / 7% & & fau wig
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59. Two columns are given as shown below :

Column -1 Column - IT

(a) face of a black-board (i) two end points
(b) aline has (i) one end point
(c) aray has (i) represents a part of a plane
(d) a line segment has (iv) no definite length
Column - I and II are matched as :
(1) (a)-(ii), (b)-(ii), (c)-(), (d)-(iv)
(2)  (a)-(iid), (b)-(iv), (c)-(ii), (d)-()
() @-0), (b)-(iid), (c)-(iv), (d)-(i)
4 (@)-(), (b)-(i), (c)-(0), (d)-(v)
FwyfegmE:
WA -1 WA - 11
(a) TAMUE H TH Bk () WeAafegaIaE
(b) TH X@I (i) TF 3q foig 7
() T fRu (i) T q 1 Tk IR T L 7|
d) TH@EE ® (iv) i Ffeaa o 72 St 2

W - 1 3R I 1 e

(1) (a)-(id), (b)-(i), (0)-(), (d)-(v
(2)  (a)-(ii), (b)-(iv), (0)-(ii), (d)-(
@) (@)-@), (b)-(ii), (c)-(v), (d)-(i
4)  (a)-(), (b)-(iii), (c)-(i), (d)-(v

a

~— N~ ~— ~—

a

60. 1233210+ 5555—222 is equal to :

1 0 2 2 G 3 (4)
1233210 + 5555 — 222 SR T :
1 0 2 2 G 3 (4)

SPACE FOR ROUGH WORK / 7% &Td & e swg
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PART - 111 / 417 - 1l
ENVIRONMENTAL STUDIES / 9IaRVI 3rc4g

Direction : Answer the following questions by selecting the correct/most appropriate options.

39T : freferfad gel & SW a7 & [ Tgl/aad 3ugar [aeeq g/

61.

62.

63.

An EVS teacher asks her students to imagine and answer, “What would have happened if all birds
were killed at once from earth ?” Such a question is :

(1) Hypothetical question (2) Divergent question

(3)  Philosophical question (4) Convergent question

e Satud frfarent 1o BT @ el A 3R ST S & T et §, ¢ 9 a1 oTTR geat § geft fer 1
T W9 R e w2 W

(1) hegeh 99 (2) UER g

(3) <nifTR g% (4) PR w

Map Reading activity in EVS classes develops certain abilities and skills in primary students. Those
are :

Understanding relative positions of places

a)
b) Understanding directions of places

d) Drawing precisely according to the scale maps
1) (b), (¢) and (d) (2) () (c) and (d)
3) (b) and (c) (4) (a), (b) and (c)
3Ty wenedl § A yea fafafy s # $ draaret iR s w1 faem war gl A€
(a) Tl A feafd &l g
(b) Tl ! feensdl =n e
(c) TRl 3R Y9 1
(d) YHH % TR % TIER TAF 9§ @
(
(

(
(
(c) Understanding symbols and scale
(
(
(

1) (), () 3R (d) 2 (), () ¥R (d)
3) (b) 3 (o) ) (a), (b) ¥R (c)

It is 7.30 P.M. in India today. Itis 2 P.M. of the same day :

(1) in Japan (2) in Dhaka (3) in Karachi (4) in London
WA W 7.30 P.M. ®1 3t a7 2 P.ML 2T
(1) SmuEH (2) TR H () HEH 4) e H

-1 UIERTE AR 20 B



64.

65.

Statement I:  The EVS curriculum is framed within social constructivist perspective of learning.

Statement II : Piaget’s ideas about children’s learning with his in-depth study of children
represent the social constructivist perspective.

(1) Both the Statement I and Statement II are false
(2) Statement I is true but Statement II is false

(3) Statement I is false but Statement II is true

(4) Both the Statement I and Statement II are correct

FHUT[:  SHICH TSI WiEy % iHiTSieh el qiyged | qur fea e g

HAAIL: T & e AT & 91 o= o Gg & aR | f5ge o faam amfsies e 9ikyed i
yfafafuc s

1)  wHITI AR HA I ST ATH T |

2) M T ¥ W HmIA 11 39A T

(1)
(2)
(3) HIUTI A T WY heA I T T |
(4)

4) HATI R KA 11 A T § |

In NCERT textbook of class V there is a real story of Suryamani who lives in Jharkhand. The
chapter depicts tribal life and role of Suryamani. Select the most important aspects addressed by
the chapter relevant for students.

(a) Popular perceptions and biases about the tribal communities.

(b)  Close relationship between forest dwellers (communities) and forests.

(c) Girls education how it changes their life.

(d) The forest products used by tribes.

(1) (), (©) and (d) () (@) () and (d)

(3) (b)and (0 (4) (@) (b) and (9

TAHIZSTRET Y Uiall el i Treaie § ARG H W@ arclt YA i T areafas w81 I8 1
sTfearet Sfe SR g =it ffiert o1 <9far B 1 BE1 o fow UrEfies s1eam g daifed 9oy deeryul
T8 <l =T |

(a) SIS TS ¥ TR Al aRem SR e

(b) SETEE (FHEHEN) SR 3k U W@ al Sl o o =TS Hai |
(c) Tefwal st fren HF IH A Hl agadt g |

(d) S SAfeentaEl g’ ITANT fRT S a1t o 3curs |

(1) (b), () ¥R (d) 2 (@) (o) ¥R (@)

(3) (b) ¥R (o) 4) (), (b) ¥R (o)

-1 UNRE AR 21 B



66.

67.

68.

P-I

The volume of the earth consists of the following :

(@) 1% Crust (b) 84% Mantle (c) 15% Core
Choose the correct option from the following :
(1) Only (b) and (c) are correct. (2) Only (a) and (c) are correct.

(3) All (a), (b) and (c) are correct. (4) Only (a) and (b) are correct.
gedt o 3T # ffafed 2 €

(@) 1% T4t (b) 84% HewA (c) 15% IS
freferfia & 9 o fomhea 9 -

(1) ad (b) 3R () =& 1 (2) HAA (a) 3R () T T

(3) @i (a), (b) 3R () T 1 (4) HIA (a) 3R (b) T ¥

Assertion : Stories and narratives have been used throughout the EVS textbooks.

Reason : Objective is to sensitise the child since he or she can empathise with characters in

a story or narrative. Textbooks should sensitise the child to wide differences that
exist within our society.
(1) Both the Assertion and Reason are correct but the Reason is not the correct explanation of
the Assertion.
(2) Assertion is true but the Reason is false.
(3) The Assertion is false but Reason is true.
(4) Both the Assertion and Reason are correct and Reason is the correct explanation of the

Assertion.
AR : AT il TSITEH § HEIAl IR SR 1 YA foman 7o 7|
T ; 32 © o o= 1 HogRitel ST | iR 98 hal § Ul o |1 qeHfd 1@ Tohdl ¢ |

STk STl bl SHR TS o iR HiE s Hadal o Wid Gageiel sl =1feu |
(1) 3fireRre iR ST TE § Afer T, ifieher i TE e 7 s S
(2) APHHRYT T B, T HRUT 3TEA B |
(3) IFUERAT 3TA 8, T HRUT TA T |
(4) AR 3R HROT AT L € IR WU, AR FT & SARAT FAT S|

“Record how the seeds germinate into saplings from day 1 to day 10”. Rita gave this task to her
students before teaching the lesson on ‘Germination’. She is trying to assess her students’ ability
to:

(a) draw and represent (b) predict how germinating seeds would look like
(c) observe and record (d) infer from the given activity

(1) (b) and (c) (2)  (b), (c) and (d)

(3)  (a) (b) and () (4) (a) and (b)

oot fed | 10 9 T 7o oS ford WehR 3w © o1  fafaw) Gar = sigpor’ o1 018 9eM § 98t oT9d
fornfefadi 01 =g v fean | a7 o9 ST T R i &A1 SR HIA H I H & 2
(a) o= oATT 3R weqd e (b) ST & for SApfa oier Ha feg®

() T =i iR e & ) & e foramshemy § ke fehrel

1) (b) 3R (o) 2) (b, (©) 3R (d)

(3) (a), (b) 3R (o) 4) (a) ¥ (b)

TR Te 22 B



69.

70.

71.

P-I

A teacher follows the following methods while teaching EVS : Think-Pair-Share, Reciprocal Peer
Tutoring, Jigsaw Strategy and Peer Review. These are examples of :

(1) Constructivist approach (2) Didactic approach

(3) Inductive approach (4) Peer group learning

3T TgM T U et fefafaa fafesl o1 9o ar € ¢ SeE-Sie- et w4, IR Jede!
SRE, T (Jigsaw) WHIT, FgdiEt gdemn | 3 I[EE

(1) T=IcHsh 39H (2) SUKRMHS IUNTH

(3)  SANTHAIH UM (4) HEUE! T gN WG

Read the following Assertion (A) and Reason (R) and choose the correct option.

Assertion (A) : People can easily float on the surface of water of Dead Sea even if they do not
know to swim.

Reason (R) : Dead Sea has 300 gm of salt in one litre of water making it, the sea having highest
salt concentration.

(1) Both (A) and (R) are true but (R) dose not explain (A).

(2) (A) is true but (R) is false.

(3) (A) is false but (R) is true.

(4) Both (A) and (R) are true and (R) explains (A).

Frefafed sifiemer (A) 991 &IOT (R) 1 & 9 U¢ 91 9& fashed =0l T -

IURIT (A) : TR FIE AT 761 ot T 79 off ga IR H 9% ST ¥ TR Tohell B |

I (R) : Td GFR o Tk e Ot | 300 UM THe 91 Sl & i1 39 Hord 21fereh 0k Tifgd IR
ERInIES

(1) < (A) T8 (R) & € TG (R), (A) I AT T8l Ll |

2) (A) & ¢ fRg (R) 7o B

(B) (A) e § fReg (R) W& T

(4) <M (A) TS (R) T € A1 (R), (A) ! AT Al T |

Read the Assertion (A) and Reason (R) below and choose the correct option.

Assertion (A) : Travellers like Al-Biruni and Ibn Batuta travelled from India to different countries.
Reason (R) : Travelling led to sharing of ideas between people.

(1) Both (A) and (R) are true but (R) does not explain (A).

(2) (A) is true but (R) is false.

(3)  (A) is false but (R) is true.

(4) Both (A) and (R) are true and (R) explains (A).

frfafaa 1o (A) 991 IROT (R) T &AM 9 U¢ T T faehed ol =& i |

AR (A) . STATE TH goTarqar Sid A1 § wRd 9 fafy= <9 =t amn &6t )

T (R) : T W AN Bl Teh-gER & Ta=Ri 1 S o1 319 e €1

1) <Fi(A) R (R) T& € T (R), (A) T AT Tal el § |
2)  (A) 9@ & fg (R) 7o B

3)  (A) Ted ® foeg (R) W& R

4) TH(A) 3R (R) §& © T (R), (A) i AR HAT € |

o~ o~ o~ o~
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73.

74.

75.

P-I

Which one/are of the following mountains is/are considered to be volcanic in origin ?

(a) Mt Kilimanjaro (b) Fujiyama (c) The Alps

Choose the correct option :

(1) (b) and (c) (2) Only (c) (3) (a) and (b) (4) (a) and (c)
frefafead § @ =F |1/9 vdd/adal st Scfa sorargEt § A S § 2

(a) WS fepferHs (b)  wHfSTET (c) e Teoid

et fashed 4 ¢

1) B E @ F () () @B @ (@) ()

Select incorrect statement about elephant herds from the following :
(1) A herd has 20 to 25 female elephants and their young ones.
(2) Male elephants live in the herd till they are 14 - 15 years old.

(3) Male elephants of more than 15 years of age leave the herd and move around alone.

(4) Female elephants live in herds.

Tl & fawar 7 g e e < T & ©

(1) T goe ¥ 20 ¥ 25 gfufar 3R 7 o= & €1

(2) Teft 14 - 15 99 Bt Y qH G oS H W |

(3) 15 T4 § 21ferk 3Mg F weft gue BT I T IR et & Ted €
(4) sfufar goei 7 wdt E)

Which of the following strategy promotes inquiry while teaching the theme “Travel” ?
(1) Asking students to narrate their or their neighbours” experiences of travelling.
(2) Asking students to make a digital presentation on vintage cars.

(3) Showing pictures of various places of interest in nearby areas.

(4) Asking students to collect pictures of various means of transport.

frfefaa o @ S @ WHifa 9en’ o9 o Tg[ 999 ST (39EER)) S SRl Sl § 2
(1) BE A 3TH A1 Sk TSATA o I 6 TS I FdH & T FHE |

(2) BE & gU BRI W fefed uxgfa <7 % fag e

(3) SME-UE % & # v & fafy=r T & ot femm

(4) e 9 ufEaed & fafv= @edi & o TR w0 & foae s

Select from the following a group consisting of alloys only :

(1) Magnesium, Aluminium, Steel (2) Steel, Brass, Tin

(3) Steel, Brass, Bronze (4) Brass, Bronze, Lithium
frefafed & & 39 998 ® gAe S fageamgsti @ s g -

(1) wefferm, Tefatem, 2 (2) e, 7, o

(@) EId, 99, s 4) 99, o, fafrm
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77.

78.

P-I

Mountaineers suffer nose bleeding at higher altitudes because :

(1) The pressure in blood vessels decreases than outside pressure.
(2) The pressure in blood vessels equals the outside pressure.

(3) Blood becomes thick at higher altitudes.

(4) The pressure in blood vessels exceeds outside pressure.
TJedRITea! i 3TfHeh HeE TR ATk 9 T o6 1 R Bl &
(1) o difereti § ame aedt gond 9 % & Sl ¢ |

(2) T Arfeehrstl § TaTe e TaTe o SER F Sl § |
(3) Ak e W g /TR el & Sl B |
(4) Yo aifeehratl § <amE ARl TaTe | ek & S

Select the group of poor conductors of heat from the following :

(1) Air, Water, Copper (2) Air, Wool, Aluminium
(3) Wool, Plastic, Wood (4) Wool, Wood, Iron
=1 o 9 o1 o Faesh 958 A 99T &

(1) e, e, e (2) TN, 3A, Tt

(3) A, e, RS (4) S, AR, dEl

Select maximum number of suitable tools of assessment to assess process skills in EVS.

(a) Teachers diary (b) Project work
(c) Drawing diagrams (d) Picture reading
(1) (b), (c) and (d) (2)  (a) (c) and (d)
(3) (), (b) and (d) (4)  (a), (b) and (c)

Bl H SATH H YFhAT hIVIE h1 TheT A h AT STheT i ST STHUN i STehad AT Sl =
Eadl

(a) Toerk emrd (b) ufErSH %
() fetaFm (d) et e

(1) (b), (c) 3 (d) 2) (a) (o) 3R (d)
(3) (a), (b) 3R (d) 4)  (a), (b) ¥R ()
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80.

81.

82.

P-I

Saleem and Raju are young school goers. Saleem likes to eat lot of fried food and ‘maida’ products.
Raju on the other hand eats home made healthy food but he never eats spinach and other green
leafy vegetables. Which of the following disorders they are likely to suffer from, respectively ?
(1) Kwashiorkar and Anaemia (2) Obesity and Anaemia

(3) Pellagra and Anaemia (4) Scurvy and Anaemia

T 3R 9] Thed ST a1 =3 € | Tl ohi qell g7 W1 3R FeT 9 o+ 3euTg ogd T6E € | gEd T WN]
R BT S T G W | AR 98 T 3R 3T & NeR dfesal welt TE @ 1 S
frfafea # @ wow: fea faer @ difsd 89 &t gaam 82

(1) FARERH IR T (2) e AR ST

(3) Uenm SR ST (4) Al 3R TN

There is a species ‘X of plants that grow in a huge number but is found only in “Y” part of India in
the whole world. Which type of species is it ?
(1) Exotic (2) Endemic (3) Endangered (4) Abundant

il T T IS X S 9gd Afees g | UeT Bt © itk I fowe § WRa & Y’ A H 2 9 S ©
I% frT TR ! Teifa § 2

(1) foasft (2) wefiR (@) faq@ T H FM W (4) TP

Consider the following statements (A) and (B).

Statement (A) : Crows build nests on very low branches on a tree.
Statement (B) : Weaver bird stitches two leaves to make its nest.

Select the correct code from the following :

(1) (A) and (B) both are wrong. (2)  (A) is correct but (B) is wrong.
(3) (A) is wrong but (B) is correct.  (4) (A) and (B) both are correct.

== feu 7T el (A) 3R (B) W fa=r wifs
HYUT (A) : I IS F 9gd = A W SFeA S 7 |
YT (B) : SoR Uil <1 I 1 W TAT SGeA I € |

frefafed ¥ ¥ @@ e g
(1) (A) ¥R (B) S Terd ¥ 2) (A) W & g (B) T B
(3) (A) 7T § W (B) W € 4) (A) 3R (B) THi W& ¥ |

You are located at X and your school is located at Y. There is no straight path from your house to
your school. So you first go to A which is about 125 m due north of X, then go to B which is 75 m
due west of A, then go to C which is about 150 m due north of B and finally reach your school at
Y which is 75 m due east of C. With respect to your school at Y, the correct direction of house at X
is

(1) Due South (2) North west (3) South east (4) Due North

3TTIRT ¥R X TX Teerd € e oTen foener™d Y W fierd €1 o79eh =R 9 forrnera 7 & fau & dieh ae &
T 2C: 3T Tet A TR S & S X & Stk SR H oot 125 HX 1 g W, R 3T B WM €, <1 A
% 31k ufYem § 75 HeX &l gt W B, fR 3117 C WS € S B & Sk S H o1 150 HieX T W 7 7R
3T 39 Y R T forenerd ug=d € S C % Sk gd # 75 WX ot gt W1 Y W A9 forermera & amiey
X W A =R hT Wl fewm @ g 2

(1) S feo 2) W df=m () <fao gE (4) SF IW
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84.

85.

P-I

With respect to Telangana the respective locations of Gujarat and Bihar are :

(1) South west; North east (2) North east; North west
(3) North west; North east (4) North west; South east
(1) <o oftem; S| 9@ (2) W 9E; IW qf=m

(3) W ufeEH; W g (4) I uft=w; 3faror qd

On a Union Territory map on its one corner following scale is mentioned.
Scale, 1 cm=155 m

If a person measures the distance between two cities as 19.7 cm, the actual distance between the
two cities is approximately :

(1)  31.00 km (2) 3.05 km (3) 30.5 km (4) 3.10 km
fore) g wifga 9w & AHfES & T &1 W 9 feu v Sum =51 i T ¥
Y9, 1 cm =155 m

Ife 1 fe 39 AT W 31 9RY o o= S g 19.7 om AIGA € A 39 IHT WK o o1 i arfaeh gl
T T

(1) 31.00 km 2) 3.05 km (3) 305 km (4) 3.0 km

As an EVS teacher, you wish your students to be aware of their own safety around adults so that
they (can take care of themselves and) do not fall prey to sexual harassment. Which step you think
is most appropriate ?

(1) Teach them to avoid strangers

(2) Hold workshops about ‘Good Touch” and “Bad Touch’
(3) Hold self-defence workshops for girl students
(4) Teach them about POCSO Act, 2012

T doud frersh % &9 H, 219 =ed § foF o1wek faenefl, aowhi % sTadre ST GRam % aR § STE @
qIfeh 3 (STI TEHTEA T Hoh 3TR) AH Icite o1 IR A 2 | STUh! 1 | hd Had ST Tl © 2

1) 3% At § R & faand

2) ‘TETE R ‘ST A F IR H THUT AR B
(3) e % foru SATerRan wrie SRS i

(4) 3 Ui T, 2012 % IR H Fard
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86.

87.

88.

Which of the following best reflect experiential strategies in teaching EVS at primary level ?

(a) Discussion (b) Demonstration

(c) Field Trips (d) Art integrated learning

(1) (b), (¢) and (d) (2)  (a), () and (d)

@) (a), (b) and (c) (4) (a), (b) and (d)

fretferaa # & =i werfien TR W $eied g § ST veleaeh THITTE! <l Ferd 3Tl il € 2
(@) == b) TRH

(c) &3 9 (d) e Twmigd fem

(1) (b), (©) ¥R (d) 2 (@), (o) 3 ()

@) (@), (b) (o) @ (@), () R (@

Samar asks his students to consult their family members to find out the names of different food
items cooked by different methods like steaming, roasting, boiling, frying etc. The most appropriate
reason for this activity is to:

(1) improve social interaction

(2) provide opportunities for children to work in groups

(3) encourage home work

(4) encourage experimentation

T ST B 9 ST qHER % HeRll § TR o % o wed ¢ fF 9 ster-sten sl § v T
ST ST Tl U1l o =TI <1 TaT o, I8 fof SIT9 ST, ST, SeTerl, qoT onfe | Jord Sugad R0l

g
(1) =S 3Ta:fshan § gorR &
(2) == %I TRl H FE HE h HATER IGH HAT
(3) T & I UieTfed S
(4) HAN I rcHTiEd hEAl

Environment in EVS means :

(a) Man-made environment (b) Natural environment

(c) Social environment (d) Cultural environment

(1) (b) and () (2)  (a) and (c) ) (@ () (and(d) (4) (a)and (b)
SeITH  qferol, 7o :

(a) wHa HfHT waferRo (b) TeRfde TATERO

(c) TSI TateRYT (d) TiEHfdH THia §

(1) (b) 3R () 2) (a) IR (o) 3) (@), (), () IR () (4 (a) IR (b)
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90.

P-I

EVS at primary level is recommended to be transacted in an integrated approach. The most
appropriate reasons are :

(a) EVS draws issues from subjects like Science, Social Science and Environmental Education.
(b) It helps in developing holistic understanding.

(c) It helps to reduce burden of students and teachers.

(d) Itis convenient to teach integrated EVS.

1) Mand© () @and(®) () @andd @) (o)and (d)

T TR W TG DI Teh Tehichd gIeahivl H e s i Fawier ot St &1 Tl S9gad Rl
g:

(a) ESCE fowi | HE 1 AR el ® S foam, S fome o) qafere fra

(b) =% 99U Hue fomfad 1 H Heg HYdm ¥ |

(c) BTEl AR forareni & et 1 W FH H HIG HA B |

(d) THIHd THTH TSHT GausTH 7
(1) (b) 3R (o) 2) (a) ¥R (b) (3) (a) W (d) 4) (o) ¥R (d)

Roshni, an EVS teacher displays a data chart for how many seeds out of 20 seeds each of mustard,
green gram, Bengal gram and chilli seeds germinated. She asks students to explain why variation
in the germination rates of different seeds occur. She wants to assess the skill of :

(1) prediction (2) drawing inference
(3) investigation (4) experiment

e, Uk Seited forferent 5 TX@l, &0 =1, smer =1 1R T & gcies 20 sisi # 9 fova o i@ gq, &
fore w221 =1 yeidia fhan | 3= 374 9% wmem fore et fob fafi= sisii =t sigor X § fomran <=1 2t
¥ o€ DA Y HIY T 3hel LT =l & 2

(1)  SATHA T (2) fr=Rd freRrer
(3) S (4) wEm
[ARERTR A OTRIRO T 29 B



PART - IV
LANGUAGE -1 : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-IV (Q. No. 91-120), if they have
opted for ENGLISH as LANGUAGE-I only.

Read the passage given below and answer the questions that follow : (91 to 99)

He must have seen us coming from some distance. By the time he loomed up in front of my
headlights, the arms in the snow-caked overcoat were flailing desperately like windmills.

Pat gave a little gasp and I braked at once, though gently, or I might have followed his car into the
ditch. But immediately I had second thoughts; there had been one or two nasty cases of hold-up in the
papers recently. I wasn’t going to take any chance with Pat, my sister, there. I changed down the gear
and made to drive round him.

Pat was horrified. “Aren’t you stopping, Bill 7’ I shook my head. ‘Too risky’.

It was then that I saw the car. It had skidded right across the road and was hanging nose down in
the deep ditch. I braked again and brought the Mini-Moris gradually to a stop.

I slid back my window as he looked in and then I saw that he was bleeding from a cut in his cheek.
‘Anybody else in the car ?’

‘No, on my own. If you could give me a lift".

I nodded and he got into the back and slammed the door.

‘Sorry about this, folks. I was beginning to think I was stuck there for the night. Not that you
would call it a busy road, is it ?’

‘Not at twelve o’clock at night’, Pat said, turning round to smile at him. “We have been to a dance
in Boling ford. Bill didn’t want to go, but I was keen. He isn’t a bad brother, really’.

91. Study the following statements :

a) Patis bold and compassionate.

b)  Bill is protective of Pat and not timid

¢) A badly hit car was parked by the side walk.
(b) is right but (a) and (c) are wrong.

)
2) (a) and (b) are right but (c) is wrong.
3) (b) and (c) are right but (a) is wrong.
4) (a) is right but (b) and (c) are wrong.

92. Pat gave a little gasp and I braked at once.

The underlined is a/an

(1) Preposition (2) Conjunction (3) Interjection (4) Pronoun
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93.

94.

95.

96.

97.

98.

99.

P-I

Which of the following statements is/are right ?
(@) The stranger did not seem to be badly hurt.

(b) Mini-Moris went past the stranger and then stopped.
(1) (b) is right and (a) is wrong. (2) Neither (a) nor (b) is right.
(3) Both (a) and (b) are right. (4) (a) is right and (b) is wrong.

Bill was travelling with :
(1) hissister (2) a friend (3) a stranger (4) his brother

It was then that I saw the car .

Identify the underlined clause.
(1) Noun (2) Adjective (3) Adverb (4) Principal

s

....he loomed up in frontof .../

The underlined phrase means the same as :

(1) appeared (2) drove up (3) looked up (4) fell down

‘.. .. brought the Mini-Moris gradually to a stop’.

The underlined is opposite in meaning to

(1) usually (2) suddenly (3) mainly (4) generally

Which of the following statements is/are correct ?
(I) Because of snow, he was driving very slowly.
(2) It wasnight time, so there was no traffic on the road, so Bill was driving in a carefree manner.
(3) It was the dead of night, so Bill was feeling drowsy while driving.

(4) There was snowfall, and a ditch along the road so Bill was driving very carefully.
Which of the following statements is not correct ?

After slowing down the car, Bill hesitated as :

(1) only Pat, a woman was sitting beside him.

(2) Dboth (4) and (1)

(3) in the cold, the car may not start again.

(4)

4) it was a dark spot, so it might be a case of robbery.
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Read the extract given below and answer the questions that follow :

‘What dost thou do here ?” the Bishop he said,
‘I prithee now tell to me’,

‘I am a bold harper’, quoth Robin Hood,

“And the best in the north countree’.

‘O welcome, O welcome!” the Bishop he said,
“That music best pleaseth me.’

“You shall have no music’, quoth Robin Hood,
“Till the bride and the bridegroom I see’.

With that came in a wealthy knight,
Which was both grave and old,
And after him a finikin lass,

Did shine like glistening gold.

“This is no fit match’, quoth bold Robin Hood,
“That you do seem to make here;
‘For since we are come into the church,

The bride she shall choose her own dear’.

100. What was going to take place in the church ?
(I) a Sunday sermon (2) a baptism
(3) a funeral service (4) a wedding

101. Which one of the following statements is incorrect ?
(1) He was old and dull looking.

(2) The bride was young and beautiful.
(3) She was not eagerly waiting for the ceremony.
(4) The bridegroom was rich and handsome.

102. ‘I prithee now . ..
The expression means :

(1) I warn you. (2) Irequestyou. (3) I order you.

103. Robin Hood met the Bishop :
(1) in the church (2) at his residence
(3) in the market (4) in the churchyard

(100 to 105)

(4) I prevent you.

104. Which literary device has been used in the expression - ‘Did shine like glistening gold” ?

(1) Metaphor (2) Personification (3) Hyperbole
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105.

106.

107.

108.

109.

110.

111.

112.

Study the following statements :
(a) The Bishop asked Robin Hood the purpose of his visit.

(b) Robin Hood pretended to be a musician.
(1) (b) is right and (a) is wrong. (2) Both (a) and (b) are right.
(3) Both (a) and (b) are wrong. (4) (a) is right and (b) is wrong.

is a type of learning in which a child has to use higher-order mental processes such as
intelligence or reasoning.

(1) Concept learning (2) Motor skills learning
(3)  Structure learning (4) Verbal learning

A child does not write a paragraph on her own even after brainstorming the topic. However, she
is able to write it under adult or peer guidance. This guidance is called

(1) Peer teaching (2) Peer counselling
(3) Team teaching (4) Scaffolding

Which one of the following is a correct statement about a textbook ?
(1) It helps to achieve the objectives laid down in the curriculum.
(2) Itis a planning of educational activities for the session.

(3) A textbook is irreplaceable.

(4) A textbook is the final thing for the teacher and the student.

As a teacher of class V you ask the students to read the text thoroughly. Then you ask them to
answer the questions with reference to the context (RTC). In this process, you are encouraging
students for

(1) scanning (2) skimming
(3) intensive reading (4) extensive reading

You as a teacher appreciate a child for her ‘overall language use’, though some of the words are

misspelt by her. You are here using approach in your class.
(1) Communicative (2) Constructivist
(3) Structural (4) Whole language

Language acquisition occurs only when the
(1) child is given practice in translation

(2) child is given opportunity to read
(3) child has exposure to the language
(4) child is taught the rules of grammar

A language teacher must promote learners for free writing, as the key benefit of free writing is
that :

(1) gives the freedom to write or not.
2

(2)
(8) can incorporate features of written language from their first language.
(4)

does not make them feel that they have to write much or be totally accurate.

it encourages learners to write fluently and creatively.
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114.

115.

116.

117.

118.

119.

120.

is a way of estimating or guessing beyond the facts.

(1) Analysis (2) Inference (3) Extrapolation (4) Explanation

Excluding mother tongue in the classroom is the characteristic feature of the method.
(1) Bilingual (2) Audio-lingual (3) Direct (4) Natural

The purpose of diagnostic test in language learning is to :

(1) Inform the parents in the PTMs and ask them to pay attention.

(2) Know the gaps in learner’s understanding and take remedial steps.
(8)  Use the findings in the progress report of students.
(4) Plan and prepare questions for summative assessment.

You are a Hindi speaking teacher, but you get posted in a primary school which is in the area of
Punjab. Since you do not know the local language of that area, you should :

(1) use the child’s language as a resource and start teaching.

(2) communicate in English
(3) motivate the community to learn Hindi.
(4) immediately apply for the transfer to a Hindi speaking area.

When we say ‘Language is arbitrary’, we mean to say that :

(1) the relation between words and their meaning is based on a valid reason and not on chance.
(2) there is no inherent relation between the words of a language and their meaning.
(8) Language follows prefixed principles.
(4)

4) there is an inherent relation between the words of a language and their meaning.
Deductive approach of teaching grammar advocates that, we should first.
(1) present rules (2) present genuine communication

(8) provide practice through drills  (4) present examples

Which of the following classroom practices helps a teacher to develop oral language among the
students ?

(1) Chorus recitation of the poem after memorising it.

(2) Participating in role-plays.
(8) Practicing the correct pronunciation of new or unfamiliar words.
(4) Chorus reading of the text with the teacher.

comprehension is the skill of reading a piece of text closely or intensely for the purpose
of extracting specific information from the text.

(1) Local (2) Inferential (3) Evaluative (4) Global
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y§T -1 : =l

WUl :  ghEnefl WRT-IV (WE. 91/ 120 ) & 91 o S had aHft § G 3 Wren-1 1 faehey far
TR

FrAfaiea TNy st ugwt IR T U9t (WH. 91- 99 ) & OE/Aaifie SUHH (G ThT TE it |

a1eATeH ot | o1 T B 1 | Gierdl § 1 379 H ol T BT Haetsl 79 TR T o1 SFHe AT | SEeh]
o161 b1 TAUR0T 1, 3T9AT 18 <M1, T8 W i o foTU YIed AT | ST8ATeH STT9eh! 3794 H bl TSI o ol
AR W ¥ 1 I Feafa soent foehRi & X Tt ], Siieh Gexal &1 aReH <t © 3R 908 F qHel FHSR a1 9
ST € | Ui 9 ITRR H S Sfer el ©, S8 Yo Tl 9l =1eT 3R 39 &5 Tl TS 94 o A6 9 =er
=1fen, fre W AFear o1 fomr 2 |

TN Ffe A g o, 3= FHt IR e HAeH o1 TS 9T | 3=, 278 onfe & o7 | vefia
T 2 R e WE T oA, e T €1 S S W IS giehd GHAT BT A YR AT €, O ST o &
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PART -V
LANGUAGE - Il : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-V (Q. No. 121-150), if they have
opted for ENGLISH as LANGUAGE-II only.

Read the passage given below and answer the questions that follow : (121 to 128)

Perhaps the worst of the ordeals was to be shut in a darkened room for long, uncertain periods, in
solitary confinement and complete silence. Gagarin himself described the experience.

“There was no sound, not even the slightest rustle. No movement of the air —nothing. It was
uncanny, unnerving.”

He would shut his eyes and imagine himself in a space-cabin in orbit, looking at the world passing
beneath him; or sometimes he would recite half-remembered poetry to himself.

Then, came parachute training. Gagarin made forty parachute jumps of gradually increasing
difficulty.

One of the most interesting of the training experiments was the method of providing experience of
weightlessness. In the early stages the express lift of the great Moscow University building was used.
From the twenty-eighth floor to the bottom allowed a drop of 500 feet. At a certain high speed the
passenger would find himself suspended between the floor and ceiling of the lift without support. This
was a convenient and inexpensive way of reproducing ‘zero gravity’.

Special air brakes prevented the lift from crashing as it reached the bottom.

On the morning of April 12, Gagarin rose at 5.30. He was zipped into his complicated
space-suit, on top of which went a pale blue fibre suit, and finally an orange one. Then an Air Force bus
drove him to the launching site in company with various helpers. The gantry lift took him up 100 feet,
to the nose of the rocket, and he entered the cabin (named Vostok) with a wave to those below.

121. ‘... and he entered the cabin’

The underlined is a/an clause.

(1) Adjective (2) Adverb (38) Coordinate (4) Noun
122. Gagarin was shut up in a dark room :

(1) to meditate (2) as an experiment

(3) to feel like in a space cabin (4) as punishment

123. Study the following statements :
(@) In his private life Gagarin was a poet.
(b) In the experimental darkroom there was no air.

(1) (b) is right and (a) is wrong. (2) Both (a) and (b) are wrong.

(3) Both (a) and (b) are right. (4) (a) is right and (b) is wrong.
124. Gagarin was a/an :

(1) adventure tourist (2) physicist at Moscow University

(3) paratrooper (4) space traveller

125. ‘... looking at the world passing beneath him.’
The underlined word is a/an .
(1) preposition (2) adverb (3) conjunction (4) article

126. One benefit of travelling in the express lift to Gagarin was that :
(1) it was very thrilling. (2) he experienced zero gravity.
(3) he could come down in less time. (4) he did not have to pay for it.
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127. ‘... a convenient and inexpensive way . . .

Choose the word nearest in meaning to the underlined one.
(1) cordial (2) handy (8) cracking (4) contrite

128. Study the following statements :
(a) On April 12, Gagarin woke up at 5.00

b) He wore a blue space suit.
) He travelled in space in Vostok.

) (b) and (c) are right but (a) is wrong.
2)  (a) and (c) are right but (b) is wrong.

) (a) and (b) are wrong but (c) is right.
(4) (a) and (b) are right but (c) is wrong.

Read the passage given below and answer the questions that follow : (129 to 135)

My home town in the mid-1970s was a laid-back place, resembling a remote rural area, except in
having some amenities. Our house was almost at one end of the town. About 15 km away, there was a
small village where a fair was held for a week every year during the harvest season. The village deity
was worshipped by many from the places in the vicinity.

Devotees thronged the fair not only for divine blessings but also for watching street-shows and
other entertainment events. Only a mud track led to the village and everyone reached there by walking
or on bullock carts.

My father, an advocate by profession, was popular among the villagers. His clients from the place
used to arrange bullock carts for us and a few family friends and relatives to attend the fair.

The journey would start early in the morning. We children will be in a separate cart. I used to
eagerly look forward to this occasion every year as though it was a journey of a life-time and worth
enjoying every minute of it. Money saved for this fair would be tucked firmly in my pockets during the
journey. Whenever the cart jerked or sped away, I would hold my pockets tightly so that coins would
not spill out.

The crowd at the temple in the foothill used to be highly unorganised, especially the food counter
where prasadam was served. Hot and spicy puffed rice and tea made of jaggery were the delectable
combination of food and beverage every devotee craved for.

Going to the temple used to be the last priority of us children. Fearing elders” wrath, we would
hurriedly finish the formality of darshan.

129. Study the following statements :

(a) The writer would be very careful while travelling in the cart.

(b) Inspite of the jerks and jolts, the journey was enjoyable.

(1) (b) is right and (a) is wrong. (2) Both (a) and (b) are right.

(3) Both (a) and (b) are wrong. (4) (a) is right and (b) is wrong.
130. Which one of the following statements is not true ?

(1) Most of the people visited the fair only for its market.

(2) Prasad distribution was quite chaotic.

(3) Prasad distributed there was very delicious.
(4) People visited the fair for divine blessings.

131. The devotees thronged the fair.

Choose the option which is nearest in meaning to the underlined word.
(1) visited (2) crowded (3) appreciated (4) attacked
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132.

133.

134.

135.

136.

137.

138.

139.

140.

141.

P-I

‘I used to eagerly look forward .../

Choose the word opposite in meaning to the underlined one.
(1) uneasily (2) easily (3) indifferently (4) heartily

Study the following statements :

(a) Children were given enough pocket money on the fair day.

(b)  Small children would travel with their parents in a separate cart.
(c) Well-to-do villagers liked to oblige the writer’s father.

(1) (b) and (c) are right but (a) is wrong.

(2) (a) and (c) are right but (b) is wrong.

(3) (a) and (b) are wrong but (c) is right.

(4) (a) and (b) are right but (c) is wrong.

‘Only a mud track led to the village’.

The underlined word is a/an .
(1) Pronoun (2) Adjective (3) Adverb (4) Noun

Which one of the following statements is true ?

(1) Life was comfortable in all respects.

(2) It was known for an annual fair.

(38) People visited his home town for religious reasons also.
(4) The narrator’s home town was in a remote area.

While preparing a Lesson Plan on the topic ‘Pollution” what will be your first step ?

(1) Go through the topics many times (2)  Select teaching aids

(3) Frame objectives (4) Prepare introductory questions

One of the important features of is that the learners solve problems collectively-either

in a pair or in a group.

(1) behaviourist approach

(2) whole language approach

(38) structural approach

(4) communicative language teaching

Linguistic competence enables learners to .

(1) speak fluently even if not grammatically correct

(2) know how and when to use the language appropriately
(3) use more and more English

(4) differentiate grammatically correct and incorrect sentences

At primary level a teacher generally motivates learners for colouring and drawing as it helps in :
(1) developing fine motor skills.

(2) entertaining learners.

(8) relaxing the teacher from teaching.

(4) engaging learners to maintain silence in the class.

When language is learnt naturally and without any systematic practice, it is called :
(1) Acquisition (2) Acceptance (3) Learning (4) Erudition

A teacher promotes group discussion and peer interaction in her classroom. She does not bother
to correct spelling or pronunciation errors. She is using approach in her classroom.
(1)  Eclectic (2) Structural (3) Constructivist (4) Traditional
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142.

143.

144.

145.

146.

147.

148.

149.

150.

P-I

When you go to teach, you find that the textbook begins with rhymes and picture stories and ends
with the alphabet. Which approach does this kind of arrangement suggest in language pedagogy.

(1) Top down approach (2)  Eclectic approach
(3) Aesthetic approach (4) Bottom up approach

A teacher asks her learners to write a paragraph on ‘water’. Then the learners start discussing
what they have been taught in science and social science classes. Then they begin to write a
paragraph on water. This is an example of :

(1) Language of science (2) Language across curriculum
(3) Communicative approach (4) Language in use

The statements that describe the knowledge, skills, and attitudes that students should acquire by
the end of a particular class or course come under

(1) learning outcomes (2) numeracy outcomes
(3) foundational literacy outcomes (4) teaching outcomes

To teach tense in your class you use two pictures of the same person - one picture taken 15 years
ago and another just clicked. You initiate a talk in the class about his present and past - his
appearance, his habits. Now, you are using :

(1) Structural Grammar (2) Pedagogical Grammar
(3) Rule based Grammar (4) Prescriptive Grammar

A teacher brings real-life objects like umbrella, raincoat, screwdriver etc to her class. She asks the
learners to describe the objects in two to three sentences. The materials that the teacher brings in
the class is technically called

(1) Teaching instruments (2) Tools
(3) Realia (4) Language input

Today Raju is very happy as he is going to school. He is the first from his family to come to school.
None in his family, not even his parents, had ever been enrolled in any school. Raju is thus a

_____ learner.
(I) Second generation (2) Marginalized
(3)  Minority (4) First generation

You were born and brought up in a village where everybody spoke Hindi and you too began using
this language without going to any school. Later when you went to school you studied English,
Sanskrit, Hindi and Urdu. Now, you speak English very fluently. Now which is your first
language ?

(1) Hindi (2) Urdu (3)  Sanskrit (4) English

You as a teacher find that the language used in the lesson is very difficult for your learners. You
simplify the language and also make certain changes in the content to suit your learners. What
you have done is called

(1) Adaptation (2) Evaluation (3) Review (4) Adopting

Children learn a language most effectively when they have
(1) a good textbook (2) inhibition
(3) motivation (4) a proficient language teacher
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY : fereaferra ferdell @ saar A ue -

1. The manner in which the different questions are to be answered has been | 1. forr g A fafdrer geal & 3R U o € 33 avfer wdten
explained in the Test Booklet which you should read carefully before actually gﬁﬂ?ﬁ[ # feparm orm g, forY 31y Uea & ¥ ¢ A Uee! e A UG
answering the questions. il

2. Outof the four alternatives for each question, only one circle forthe correct | 2. T U9e & U feU o0 IR fadedl & & J& 3R & fov OMR
answer is to be darkened completely with Blue / Black Ball Point Pen on IRIT P T%-2 R &dcT U T B a uﬁ TG eAei/dTel dict Uigee
Side-2 of the OMR Answer Sheet. The answer once marked is not liable I Y| U R AT b B & q1e 37 deeT el o Fhdl
to be changed. 3

3. Thecandidates should ensure that the Answer Sheetis notfolded. Donot | 3 gfiereff g%r?@aa & 5 39 307 U9 ) A1E F 0 Ud W W aﬁ‘%
make any stray marks on the Answer Sheet. Do not write your Roll No. 31 Ryore @ @S| whenelf arua 3W e T
anywhere else except in the specified space in the Answer Sheet. N Samp——

4, I-!andletthe Tes(t Bool:lfet :pd Answerlsgeetté/vm:(lc??das u:‘derbno 4 e Eﬁﬂ?ﬁf 0 3R T B WEK“L‘E T B, s et ot
circumstances (except for discrepancy in Test Booklet Code or Number 55 : 3 5 . . .
and Answer Sheet Code or Number), another set will be provided. o 3 ( wde w mf—ﬁ P12 . air

festa @t ffd @1 Bigde) gl TEaT YRadl 3ucte ol Bt

5. The candidates will write the correct Test Booklet Code and Number as et

iven in the Test Booklet/Answer Sheet in the Attendance Sheet. , .
g 5. TleT YRsI/3ER U & U U wdlen gRde @is @ FA Bl

6. A machine will read the coded information in the OMR Answer Sheet. yHenelt T& 9% I uRafy-uw #

Hence, noinformation should be leftincomplete and it should not be different : R 5 -
from the information given in the Admit Card. 6. OMR 37 T & - I T mﬂa | e aﬁé
oft g siedt 7 BS SR TE YAU-u & & g g A faredt T

7. Candidates are not allowed to carry any textual material, printed or written, el TR
bits of papers, pager, mobile phone, electronic device or any other material o .
except the Admit Card inside the examination hall/room. 7. wdtenelf gr wdem 'E»'IFT/EE;%\T ﬁ TAA-T & %’dWN wﬁmﬁ TR B

. . o . o UIe-A1#N, Fied A SAARed, BT B U], Uer, Adrgd

8. Mobile phones, wireless communication devices (even in switched off FE sﬁ’c@ﬁ%{cﬁ Jueoer o R5oft 31 B 3 T @ o o A
mode) and the other banned items should not be brought in the examination f’ 3 @ 3 ey
halls/rooms. Failing to comply with this instruction, it will be considered as g ) . . )
using unfair means in the examination and action will be taken againstthe | 8. dIaTSel Bid, a?ﬂ? AR gﬁﬂ?ﬂ (R 3T 3razer & o) 3k 3=
candidate including cancellation of examination. yfoafed axqu Tten eicmer & 8 oTg ool aifeu | 3 Jgel H

9. Each candidate must show on demand histher Admit Card to the Invigilator. T of &l W @ e & 3@%‘3 el BT T A1 SO 3

10. N didate, without special ission of the Centre Superintendent el @ , T % o |

. No candidate, without special permission of the Centre Superintendent or ; T
Invigilator, should leave his/her seat. 9. 933 EER u'ﬁaﬂaﬁ, fordteres @I 31Ual gaer-u !
. - . , 10. siefters o1 ferdteras ot faoiw srgqafa & foem &g wotemeft

11. The candidates should notleave the Examination Hall/Room without handing iﬁ ¢ B | ¢ & g ¢
over their Answer Sheet to the Invigilator on duty and sign the Attendance el eTel o SIS )

Sheet twice. Cases where candidate has not signed the Attendance Sheet | 11. & 33 fordieres &1 3T 3a¥ U7 ieu faen va uRefe-ua W gdR
second time will be deemed not to have handed over the Answer Sheet and gxrery fopu faem utemelt wdten alc/mer @ w1 afe feedt
dealt with as an unfair means case. The candidates are also required to Terelt o a(:m“r IR JuRefa-usr W gxder 98 fu, @ I8 AN
put their left hand THUMB impression in the space provided in the SO R 39 3T U o ailery § 3R g 3@1%‘3 Jled BT
Attendance Sheet. HIHCT e ST | Tl 3rae Ty arer 3 3oy ot ferermer sufarfar-

12. Use of Electronic/Manual Calculator is prohibited. 5 & U 910 9 TR 319 v |

13. The candidates are governed by all Rules and Regulations of the Examining | 12. Sciagiierb/gaaalicia URGed &l 3uair afefd &1
Body with regard to their conduct in the Examination Hall/Room. Allcases | 43, udflerr &far/mer & 3maewr & fop adtemelf uderor wwem & woft
of unfair means will be dealt with as per Rules and Regulations of the forralt vg Rferret grr R ¥ 3@%‘?[ et ¥ T A B
Examining Body. el T e & et v R & areEw

14. Np part of the Test Booklet and Answer Sheet shall be detached under any 14, T5adY oft oNNafy & wden Eﬁa-ﬂ 3 T T F Elﬁ'sf HTOT 37T
circumstances. .

il

15. On completion of the test, the candidate must hand over the Answer 15. Tt T Bl R, THemeff ard/pel Eﬂg?r A qgf I 73 erdlere
Sheet to the Invigilator in the Hall / Room. The candidates are P s AT | gdemel 399 T 57 7 gﬁ?ﬂ:‘l o & o7 TB
allowed to take away this Test Booklet with them. ¥

Pt I 48 B



